1.0

W and y
0.9

= 0.012(30) y = 0.922(72) => 0.922(72)

rm 449 med(mad) AC.B.F

LR I | L O S I B R |:|;|;|;|||||||—

' ' —_— —_—
‘ =

tua.m: h U

""l" u

bl '" ik}

Ll

Ll Jm L MN“"‘ | _
gl “WPWWW”W*“"
Wl [|T” ”m“uw mnwuwﬂ”|mq‘mln K qpnmwm‘wpwnn' W“1ﬂnwrmv.

—
—
—

| 5 I

: S ‘
MHJWM” H'f :W l"){ 1‘ \.' ‘”?H’ﬂ].n 1 i J' yomm il ”% W‘ | W"“’”* ‘\‘J ‘u’ 'y‘lJ HH”IU llh'if‘ln'fm' HPS Ty ""” fl

J’W"l[ W‘ N 'w“" it " rs( I ” ik ln’wm m: [ .i u. ATy ”sﬁﬂ,mw 'WWW h

Il|IIII|IIII|I[II|IIII|IIII|

2000 5000 4000

U

1>+06.00

N (R) z = 1.21763



